



Nimi: _____

Päivämäärä: _____ Pisteet: _____

$$(4 + \frac{3}{5})^2 - \frac{1}{2} + 5^2 - \frac{3}{2} =$$

$$(3 - \frac{3}{4})^2 - \frac{3}{5} + 4^2 \times \frac{1}{3} =$$

$$(4 - \frac{2}{5})^2 + \frac{1}{2} \times \frac{1}{2} + 4^2 =$$

$$(3 + \frac{1}{6})^2 - \frac{3}{5} \times 3^2 \times \frac{3}{4} =$$

$$(\frac{2}{5} + \frac{1}{2})^2 - \frac{1}{3}(\frac{1}{2} - (\frac{1}{2})^2) =$$

$$(5 - \frac{2}{3})^2 - \frac{1}{6} - 3^2 - \frac{1}{3} =$$

$$(\frac{1}{6} - \frac{1}{2})^2 + \frac{3}{4}(\frac{3}{5} - \frac{1}{4}) =$$

$$(3 - \frac{2}{3})^2 - \frac{3}{5} + 3^2 - \frac{1}{3} =$$

$$(\frac{1}{2} - (\frac{1}{5})^2) \times \frac{3}{2} - (\frac{3}{2} - \frac{3}{4})^2 =$$

$$((\frac{3}{5})^2 + \frac{1}{5}) \times \frac{1}{4} - (\frac{3}{5} + \frac{1}{3})^2 =$$



Nimi: _____

Päivämäärä: _____ Pisteet: _____

$$\left(4 + \frac{3}{5}\right)^2 - \frac{1}{2} + 5^2 - \frac{3}{2} = \frac{1104}{25} = 44\frac{4}{25}$$

$$\left(3 - \frac{3}{4}\right)^2 - \frac{3}{5} + 4^2 \times \frac{1}{3} = \frac{2351}{240} = 9\frac{191}{240}$$

$$\left(4 - \frac{2}{5}\right)^2 + \frac{1}{2} \times \frac{1}{2} + 4^2 = \frac{2921}{100} = 29\frac{21}{100}$$

$$\left(3 + \frac{1}{6}\right)^2 - \frac{3}{5} \times 3^2 \times \frac{3}{4} = \frac{269}{45} = 5\frac{44}{45}$$

$$\left(\frac{2}{5} + \frac{1}{2}\right)^2 - \frac{1}{3}\left(\frac{1}{2} - \left(\frac{1}{2}\right)^2\right) = \frac{109}{150}$$

$$\left(5 - \frac{2}{3}\right)^2 - \frac{1}{6} - 3^2 - \frac{1}{3} = \frac{167}{18} = 9\frac{5}{18}$$

$$\left(\frac{1}{6} - \frac{1}{2}\right)^2 + \frac{3}{4}\left(\frac{3}{5} - \frac{1}{4}\right) = \frac{269}{720}$$

$$\left(3 - \frac{2}{3}\right)^2 - \frac{3}{5} + 3^2 - \frac{1}{3} = \frac{608}{45} = 13\frac{23}{45}$$

$$\left(\frac{1}{2} - \left(\frac{1}{5}\right)^2\right) \times \frac{3}{2} - \left(\frac{3}{2} - \frac{3}{4}\right)^2 = \frac{51}{400}$$

$$\left(\left(\frac{3}{5}\right)^2 + \frac{1}{5}\right) \times \frac{1}{4} - \left(\frac{3}{5} + \frac{1}{3}\right)^2 = \left(-\frac{329}{450}\right)$$